
Имя: Ключ к правильным ответамОт числовой формы к развернутой(дроби)

Математика www.CommonCoreSheets.ru 4 1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Напишите каждое число в виде цифрового ряда.

об) 7,9 7+(9×1⁄10)

1) 147,5 1×100+4×10+7+(5×1⁄10)

2) 3,81 3+(8×1⁄10)+(1×1⁄100)

3) 4,2 4+(2×1⁄10)

4) 19,32 1×10+9+(3×1⁄10)+(2×1⁄100)

5) 56,7 5×10+6+(7×1⁄10)

6) 42,88 4×10+2+(8×1⁄10)+(8×1⁄100)

7) 7,3 7+(3×1⁄10)

8) 644,9 6×100+4×10+4+(9×1⁄10)

9) 38,5 3×10+8+(5×1⁄10)

10) 985,51 9×100+8×10+5+(5×1⁄10)+(1×1⁄100)

11) 2,191 2+(1×1⁄10)+(9×1⁄100)+(1×1⁄1000)

12) 37,35 3×10+7+(3×1⁄10)+(5×1⁄100)

13) 287,6 2×100+8×10+7+(6×1⁄10)

14) 43,185 4×10+3+(1×1⁄10)+(8×1⁄100)+(5×1⁄1000)

15) 4,54 4+(5×1⁄10)+(4×1⁄100)
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